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£ R M= E|& 365| 8,672 0.001 ol o0.00 0 0.0] 0.009| 0.002 O 0
& R ™|@EmEB|E 364| 8677] 0.002 ol o0.00 0 0.0 0.064| 0.009 @) 0
& R Wm|/hILFH|E 361| 8,641 0.001 o]l o0.00 0 0.0| 0.020] 0.003 O 0
& R Wi #B|E 365| 8,688| 0.002 o| o0.00 0 0.0| 0.026] 0.004 o 0
t B fi|lt E|E 362| 8,668 0.001 o] o0.00 0 0.0| 0.029| 0.003 @) 0
t E WA &|E 352| 8.403] 0.002 o| o0.00 0 0.0 0.080 0.013 @) 0
AN R TN RET 365| 8,687| 0.000 ol o000 0 0.0| 0.008| 0.002 @) 0
B W e EME 364| 8,651] 0.001 o| o0.00 0 0.0] 0.011| 0.002 @) 0
Be % W|HR E|E 365| 8,656| 0.001 o| 0.00 0 0.0| 0.023| 0.003 @) 0
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(B) | R | (ppm) | (opm) | (B | (%) [EFRD| (%) [ () | (%) [ (A) | (%) [ (ppm) (/)
£ R w|= B 364| 8,606 0.005| 0.034 o| o0.00 0| 0.00 0 0.0 0 0.0| o0.010 0
& R ™|@EmE|E 363| 8,665 0.009] 0.047 o| o0.00 o[ 0.0 0 0.0 0 0.0| 0.021 0
£ iR W/ E|E 358| 8,572 0.006| 0.042 o| o0.00 0| 0.0 0 0.0 0 00| 0014 0
& R Wl &= 364| 8628 0.007| 0057 ol 000 ol 000 0 0.0 0 0.0| 0016 0
& R Mm|ER @E|E 363| 8,626 0.009] 0.059 ol 000 ol 000 0 0.0 0 0.0| 0018 0
€ R m|@E EME 365 8,667| 0.009] 0.047 ol o0.00 o[ o0.00 0 0.0 0 0.0| 0.022 0
& R W4 #B|E 364| 8,674| 0.006] 0.044 of o0.00 of 0.00 0 0.0 0 0.0| 0013 0
t B f|lt E|E 361| 8533 0.005| 0035 ol o000 ol o000 0 0.0 0 0.0| 0011 0
t B W|FE BE 363| 8,643| 0.003] 0.030 of o0.00 of 0.00 0 0.0 0 0.0] 0.008 0
IN W TN T 364| 8,656 0.006] 0.046 ol o000 ol o000 0 0.0 0 0.0| 0015 0
& mKREF|E 365 8,744| 0.007| 0.049 of o0.00 of 0.00 0 0.0 0 0.0| 0016 0
PR PRI [ 365 8,643] 0.004| 0053 of o0.00 of 0.00 0 0.0 0 0.0| 0.009 0
B W Ml B|x 354| 8,475 0.004] 0.039 o| o0.00 o[ 0.00 0 0.0 0 0.0| 0.010 0
=TT 7 E/N £ [E 364| 8664 0.007| 0046 ol 000 ol 000 0 0.0 0 00| 0.022 0
BE £ mW|HR E|E 364| 8647 0.007| 0072 o o0.00 ol 000 0 0.0 0 0.0| 0016 0
2 O0E ETIE OWE|E 364| 8642 0.005| 0.041 ol 000 ol 000 0 0.0 0 00| 0014 0
M ET|N T 365 8,657| 0.007] 0.047 o| o0.00 o o0.00 0 0.0 0 0.0] 0.019 0
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(B) | (B | (epm) | (epm) | (opm) | (B) | (BRI | (opm) | (ppm) | (ppm) (%)
£ R W= BME 364| 8,606 0.000] 0.025| 0.002 364 8,606 0.006| 0057| 0.012 92.6
& R ™|@EmEE|E 363| 8,665 0.003| 0.067| 0.009 363 8,665 0.012| 0.108] 0.028 71.7
% R m|/hIE|E 358| 8,572 0.001| 0.050| 0.006 358 8,572 0.008| 0.092| 0.020 81.3
& R Wl &= 364| 8,628 0.001| 0086 0.012 364| 8,628| 0.008| 0.143| 0.028 85.6
& R m|BR @E|E 363| 8,626 0.001| 0.157] 0.005 363 8,626 0.010| 0.158| 0.022 87.1
& R m|@E  #|E 365| 8,667| 0.002| 0.071| 0.008 365| 8,667| 0.010| 0.103| 0.030 820
& R W4 #|E 364| 8,674| 0.002| 0.078] 0.004 364| 8,674| 0.008| 0.122 0017 78.0
t E M|t E|E 361| 8533] 0001 0061] 0007 361| 8533 0006| 0092 0017 76.5
t B WA &|E 363| 8,643| 0.001| 0.047] 0.003| 363| 8643| 0.004| 0.064| 0.011 828
AN R TIN RET 364| 8656] 0001] 0050 0004 364 8656| 0007 0.087] 0019 86.1
B mREFE 365| 8,744| 0.003| 0.099] 0.015 365| 8,744| 0.010| 0.117| 0.029 7.3
PR G PR 365 8643| 0001] 0.164| 0005 365 8643 0005 0.209] 0014 78.3
B W Ml B|x 354| 8475| 0.001] 0.024] 0.003 354| 8,475| 0005/ 0055 0.013 82.7
B W e EE 364| 8664| 0002 0067| 0007 364 8664| 0009 0.112] 0028 79.9
B X ™R E|E 364| 8,647] 0002| 0078 0.007| 364 8647| 0009| 0.131| 0.020 76.4
#E BETE ME|E 364| 8642| 0001| 0061| 0004 364 8642| 0006| 0094 0016 820
M ET|N | 365| 8,657| 0.001] 0.135] 0.005 365| 8,657| 0.008| 0.167| 0.022 88.3
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&£ R M= EB|E 364| 8,656 0.1 0 0.0 0 0.0 038 0.3 O 0 0
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(B) | xR | pm) | (H) | (BERED | (H) | (BFRED | (opm) | (ppm) (ppm) (ppm)
£ R W= BME 361| 5,361 0.031 45 294 o| o0.00| 0.090| 0039 0.076 0.075
& R ™|@EmEE|E 365 5.441| 0.039 81 563 o[ o0.00[ 0.096] 0051 0.087 0.079
% R m|/hIE|E 363| 5,368 0.039 68| 488 o| o0.00| 0094 0.049 0.080 0.081
& R |+ R 365| 5.464| 0.038 66| 460 ol o0.00] 0.096] 0.049 0.085 0.081
& R m|EBR @E|E 365| 5,450] 0.041 73 494 ol 0.0 0.091] 0.051 0.082 0.078
& R m|@E #|E 365| 5452 0.042 84| 640 o 0.0 0096 0053 0.087 0.083
& R Wl #B|E 365| 5,458| 0.041 74| 503 ol o0.00| 0094| 0052 0.084 0.077
t E Wt E|E 365| 5,451] 0038 69| 492 o o0.00[ 0096 0.049 0.081 0.080
N TN R ET 364 5416| 0.038 67 480 ol o0.00| 0.095| 0.050 0.085 0.078
B mREFME 365| 5,444 0.030 40 259 o| o0.00] 0.090| 0.041 0.077 0.076
¥ HH K|S 365| 5,451] 0.038 60| 388 ol o0.00| 0.088| 0047 0.078 0.077
B W Ml B|x 365| 5426| 0.041 82| 607 o| o0.00| 0098 0.051 0.089 0.080
B W e EME 365 5453| 0.036 54| 356 o| o0.00| 0.088| 0046 0.081 0.077
HE X W E|E 365| 5.454| 0040 77] 504 o[ o0.00| 0097| 0.052 0.083 0.076
E W OETE RBE 364| 5419] 0.037 67| 484 o 000| 0093 0.049 0.083 0.081
M ET|A | 356| 5,304| 0.036 60| 473 0| 0.00| 0.095| 0.047 0.085 0.080
hREEET|EE B|X 365| 5,438| 0.038 55| 356 o 000| 0092 0.047 0.079 0.079
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€ R m|= B 361| 8,681] 0.015 o] 0.0 0 00| 0.175| 0.040 @] 0
& R ™|fErE|E 361| 8,697] 0.017 ol o0.00 0 0.0| 0.116] 0.042 @) 0
£ iR W/ FE 357| 8,654 0.014 ol o0.00 0 00| 0.197 0.040 @] 0
& R W4 #|E 361| 8,689] 0.017 ol o0.00 0 0.0| 0.092| 0.043 @) 0
t E Wt ElEF 359] 8,669] 0.015 o] 0.0 0 00| 0.143| 0.045 @] 0
t B f|X H|FX 361| 8,685 0.019 1| o0t 0 0.0| 0.212| 0.051 O 0
+ B fm|AEE|X 361| 8,683] 0015 o] o0.00 0 0.0| 0.096] 0.043 o 0
t B mW|gEEE|X 359 8,663] 0014 o| o0.00 0 0.0| 0.101| 0.047 O 0
t E WA & 361| 8,688| 0017 o| 0.00 0 0.0| 0.161| 0.053 O 0
IR FIN R)ET 361| 8677] 0014 ol o000 0 0.0| 0.176] 0.038 @) 0
hn & m|KREF|E 360 8,680| 0.016 ol o0.00 0 0.0| 0.097| 0043 O 0
PRI Gl PR 359 8,664| 0.015 o] o0.00 0 0.0| 0.127| 0.043 @) 0
B W Ml B|x 358| 8,654| 0.016 o| 0.00 0 0.0| 0.102| 0.041 O 0
B W mn F|E 361| 8,686| 0016 ol o0.00 0 0.0| 0.100| 0.042 @) 0
B W mE xR 361| 8686| 0018 ol 0.0 0 0.0| 0.104| 0.044 O 0
B X MR E|E 361 8,682] 0015 ol 0.0 0 0.0| 0.107| 0.040 O 0
2 E ET[E WB|E 360| 8,680| 0.017 o| 000 0 00| 0.102 0.043 O 0
R ET|R | 361| 8,680| 0017 ol 0.0 0 0.0| 0.096( 0.045 O 0
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(B) | (B (¢ g/m? () | (%) (¢ g/m%) (Ug/md) (H) (H) (ueg/md
& R Wm|@EdEHME 361| 8,688 12.4 4 1.1 58.3 30.4 0 3 29.7
& R m|/hiLH|E 31 743 11.2 0 0.0 26.9 - 0 0 —
£ R wm| RkE 31 742 11.5 0 0.0 26.9 - 0 0 —
& R m|fE  E|E 361| 8,679 11.5 4 1.1 57.4 29.6 0 3 28.4
& R Wl EE 360] 8,657 1.3 4 1.1 52.4 313 0 3 28.7
t E #|lt ElEF 357] 8,652 13.4 10 28 51.8 39.0 3 4 33.6
AN /N ] A VN - 359| 8,652 1.4 5 14 55.5 33.0 0 3 30.8
W B T Bk 358| 8,619 10.8 4 1.1 445 31.8 0 3 30.1
%M TH|E MR 272] 6,530 9.9 0 0.0 32.7 26.3 0 0 26.3
mE mREFE 361| 8,682 12.2 4 1.1 454 31.2 0 3 30.1
PR PR ) 352| 8481 13.0 6 1.7 57.4 34.2 0 4 31.8
B W W EE 277] 6,712 11.3 0 0.0 33.7 30.0 0 0 30.0
R ETE OBEME 272| 6,533 10.0 0 0.0 29.8 25.3 0 0 25.3
M BTN E|E 272] 6,529 105 0 0.0 30.2 26.9 0 0 26.9
E) TREHLEQRYMEHEICES1 B EXEASS yg/m*ERA-EHIEE AERO 1 BEHEDSHENHHH98%DEE
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i BEERERE| <08 | zoss
(B%FE) | (opmC)| (ppmC)| (B) | (ppmC)| (bppmC)| (A) (%) (8) (%)
& R w|= BME 8,362 0.07| 007 352] 060| 0.00 1 03 1 0.3
€t B WX H|*x 8,658 0.09| 0.09 365 026] 0.02 6 1.6 0 0.0
Mo BTN T 8,641 005| 007 364 029] 000 6 1.6 0 0.0
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(D | opmC)| (ppmC)| (B) | (ppmC)| (ppmC)| (BERH) | (ppmC)| (ppmC)| (B) [(ppmC)|(ppmC)
& R W= EB|E 8362 197 198 352 238| 1.74] 8362 204 205| 352| 268 1.78
+t B WX H|x 8658 1.89] 190 365 =208] 1.75| 8658 198 200| 365| 232] 1.86
M O# BT R E | 8,641 193] 1.96 364] 261 1.77| 8,641 199 2.03 364 280| 1.79
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(8) (B5FE) | (ppm) (ppm) | (BERED) (%) (B ) (%) (8) (%) (a/) (%) (ppm) (8)
& R m|(B)RE |& 365| 8,675 0.025| 0.080 0 0.00 0 0.00 0 0.0 1 0.3] 0.035 0
€ R m|(B)RET |’ 365] 8,678 0028 0213 1 0.01 96 1.10 0 0.0 39 10.7| 0.049 0
& R m|(B)uF [ 364] 8672 0006 0.040 0 0.00 0 0.00 0 0.0 0 00| 0.011 0
Famm|(B)F 4 |E 364| 8661 0.019] 0.070 0 0.00 0 0.00 0 0.0 0 0.0] 0.035 0
) T98%fEHEEIC k51 H FHE0.06ppmZE B A= BHUEE, 1ERD1H EHEDS>598%DEEIZ#H ST, HD. 0.06ppmEBZ-LNDNDBEKTHS,
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) IR | p 3] e & | posuts | EEH| M g B | pgosufy | NOZ/(NOHNO2)
(H) (F%FED) | (ppm) (ppm) | (ppm) (a) (B5fE) | (epm) | (ppm) (ppm) (%)
% R m|(BXE |& 365 8,675 0019 0.124] 0.034 365| 8675 0.043] 0.191] 0.063 56.7
€ R m|(B)RET |’ 365| 8,678 0027 1.452] 0.078 365 8,678 0054 1.623] 0.127 51.2
& R Wm|(B)#E [E 364] 8672 0.003] 0.105| 0.006 364] 8672 0.009| 0.129] 0.017 67.3
Framm|(E)FaH|[{E 364] 8661 0021 0.195| 0.052 364 8,661 0040| 0.256] 0.084 478
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o = Z0EE Li=CEDHmE B =
FRoME Y=k ¢
(8) (B5RE) | (opm) (5] (%) =] (%) (ppm) (ppm) (BEx - £0O) (/) (8)
+ R m|(B)RE |& 365| 8,699 05 0 0.00 0 0.0 43 0.7 O 0 0
& R m|(B)RET | 365] 8,702 08 0 0.00 0 0.0 16.8 1.7 @] 0 0
£ R m|l(B)#E [F 365| 8,698 0.2 0 0.00 0 0.0 0.9 04 O 0 0
FHrmh|EFaH|E 365| 8,729 0.4 ol 000 0 0.0 1.9 0.6 @) 0 0
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(B) | EFFED | (mg/m®)| EFFED | (%) ) %) | (mg/m)| (mg/m®| Ex - £O) /)
& R m|(B)RE |& 361| 8,700| 0.015 0 0.00 0 00| 0.124| 0.036 O 0
& R m|(B)RET & 361] 8,697 0.029 89 1.00 0 00| 0552 0072 @) 0
& R m|(B)uF [F 361] 8,697 0.013 0 0.00 0 00| 0.183| 0.038 O 0
Famm|E)Ham|{E 361| 8681 0018 0| 000 0 00| 0197 0042 @) 0

) MBEREORBTHECL 1B EHiE0.10mg/m*EBX AHIEE 1 BEHBEOBNAL>2%DHED 1B FHELRS L1 B FHEDS550.10mg/m*%E
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B) | @B |(ug/md| B (%) | (ue/m)| (ueg/md) ) () (ueg/m
€ R m|(BHLF & 361] 8,686 10.2 4 1.1 51.3 28.8 0 3 27.2
Famm|(E)EFaH|{E 361] 8,683 12.8 5 14 63.0 34.1 0 3 314
) MESEEOREHNTIHECES1 BEREHNSG U /m ERI-BHISE AERD1BFEHEOSHIENAANS8%DEEIZH>T, HhD. 3bue/m’%E
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Hhit i EEE] BER ZOHE ZOHEE
(BfE) | (opmC) | (ppmC) (a) (ppmC) | (ppmC) (H) (%) (/) (%)
& R m|(B)RE |[& 8,608 0.13] 0.12 363 0.26 0.03 5 14 0 0
() A2 RU2ERALKE
5o Ik
6~OBIZ[ ¢ e O .
; | MER | £58 | 8175 | g0 |6~ORMMTE| MER | £T [ B2 | g0 0 |6~ MIBHMTIE
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fi8 Bt | REE 8 Ralt | &IEE
(B%fE) | (opmC) | (ppmC) (a) (ppmC) | (ppmC) | (BFRED) | (ppmC) | (ppmC) (a) (ppmC) | (ppmC)
£ R h|(EVEE |BE 8,608 193] 193 363 210/ 1.76] 8,608 2.06] 205 363 225 1.87




3 —MREBEXIJAERDEMAEHRROBEFEL
(1) —EBLRE (FEHE)

AT S A& £ F ¥ {E (ppm)
g | e eriser| Erioek| Erosr | Ero a k| Tros | TRosE | TRos | TRosEE| TroeEE

& R = ElE 0.004 0.004 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
& R W@ m ME 0.002 0.002 0.002 0.001 0.001 0.001 0.002 0.001 0.001 0.002
& R W 2 B|E 0.003 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
& R ™% x|E 0.001
& R i |1 0.002 0.002 0.002 0.002 0.001 0.002 0.002 0.002 0.002 0.002
+ B |t B|& 0.003 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
+ B X 2] ES 0.001
t E WA 8 E[X 0.001
+ B wilee & Blx 0.000 0.000 0.000 0.000 0.000 0.000 0.000
+ B &'\ 5|4 0.002 0.003 0.003 0.002 0.002 0.002 0.004 0.003 0.002 0.002
+ B | MES 0.000
+ B & 2] ES 0.001
WA 7 wm|#ET 0.003 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000
mE WK B oFE 0.001 0.001 0.001 0.001 0.001 0.000 0.001
o ¥ R ¥e|7g 0.002
B W | B|% 0.001
B |1 0.004 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
ST ES JIIES 0.005 0.003 0.002 0.001 0.001 0.001
B % R | 0.002 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
2 1% ET|iE |1 0.003
Mo BT #|1E 0.004
FEEEHET(S = ES 0.001
o BE B BT (B Z1ES 0.001

(2 ZEBERmE (1 HFHEDFER 2 %ERIME) (GREEE% . 0. 04ppmLLF)

- AES A& 1B FEHEDER2%RME (ppm)

htel [ g1 74 e | Eris s | Eruiot i | Ervoos i | Emot i | ERo | FR2s4E | ER244F B | ERi254 | ERR264E B

& R = ElE 0.006 0.006 0.006 0.003 0.004 0.004 0.002 0.002 0.003 0.002
& R W@ m wWE 0.006 0.005 0.005 0.004 0.005 0.005 0.005 0.004 0.006 0.009
& R W X BlE 0.006 0.006 0.005 0.004 0.005 0.005 0.004 0.004 0.004 0.003
& R W% RlE 0.004
& R i 3| 0.005 0.004 0.005 0.004 0.004 0.004 0.006 0.004 0.005 0.004
+ B |t Bl 0.006 0.005 0.003 0.003 0.002 0.003 0.003 0.003 0.003 0.003
+ B X 2] ES 0.002
t B WA 8 E[X 0.002
+ B wilee & Blx 0.002 0.002 0.002 0.001 0.002 0.002 0.002
+ B &\ 5|1 0.012 0.013 0.016 0.010 0.014 0.016 0.026 0.022 0.014 0013
t B m|& TNES 0.002
+ B @& 2] ES 0.002
WA 7 N 0.006 0.005 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002
mE WK B oFE 0.003 0.003 0.003 0.002 0.002 0.002 0.002
RO PP ¥e|7a 0.005
=TT H 1] I=1ES 0.003
B T |4 0.007 0.006 0.003 0.003 0.003 0.003 0.003 0.003 0.002 0.002
B W T JIIES 0.010 0.008 0.005 0.004 0.004 0.003
B = W[ | 0.006 0.006 0.006 0.004 0.004 0.003 0.003 0.002 0.003 0.003
2 1% ET|iE & |1 0.006
N # BTN M 0.007
FEEEHET(S B|x 0.004
o BE B BT (R Z1ES 0.003




Q) —BIbEFE (FTHIE)

AT S A& £ F ¥ {E (ppm)
gt | e eriser| Erioek| T | Ero E k| Troe | TRosE | TRosE| TRosEE| TRoeEE

& R = ElE 0.008 0.009 0.008 0.008 0.007 0.007 0.006 0.006 0.006 0.005
& R W@ m SE 0.014 0.016 0.014 0.012 0.010 0.010 0.010 0.010 0.010 0.009
& R Wl 2 B|E 0.010 0.010 0.009 0.008 0.007 0.007 0.006 0.006 0.006 0.006
& R |h Rl 0.012 0.012 0.010 0.010 0.009 0.009 0.008 0.008 0.007 0.007
& R &R Fic) (3 0.015 0.015 0.013 0.012 0.011 0.011 0.010 0.009 0.009 0.009
& iR | |1 0.011 0.012 0.011 0.010 0.009 0.009 0.008 0.008 0.008 0.009
& R i |1 0.010 0.009 0.008 0.007 0.007 0.006 0.005 0.004 0.005 0.006
+ B |t B|& 0.007 0.007 0.007 0.007 0.006 0.005 0.005 0.005 0.005 0.005
+ B X 2] ES 0.004
t E WA 8 E[X 0.003
+ B wilee & Blx 0.002 0.002 0.002 0.002 0.002 0.002 0.002
+ B &'\ 5|4 0.005 0.004 0.004 0.004 0.004 0.004 0.004 0.003 0.003 0.003
+ B | MES 0.002
+ B & 2] ES 0.004
WA 7 NE 0.012 0.010 0.009 0.008 0.008 0.007 0.008 0.006 0.006 0.006
mE HK B OFE 0.013 0.013 0.012 0.011 0.010 0.010 0.009 0.009 0.008 0.007
o ¥ R ¥e|g 0.005 0.005 0.005 0.004 0.004 0.004 0.004 0.003 0.003 0.004
B W | Bl*x 0.008 0.005 0.005 0.005 0.004
B |1 0.013 0.013 0.012 0.010 0.009 0.009 0.008 0.008 0.007 0.007
ST ES JIIES 0.012 0.013 0.010 0.008 0.008 0.008
B % R i [ 0.010 0.010 0.009 0.008 0.008 0.008 0.008 0.007 0.006 0.007
2 1% ET|iE |1 0.010 0.011 0.009 0.008 0.007 0.006 0.006 0.006 0.005 0.005
Mo BT #[x 0.009 0.010 0.009 0.009 0.008 0.008 0.007 0.007 0.007 0.007
FEEEHET(S = ES 0.005
e B HT| BE SIES 0.003 0.003 0.003 0.002 0.002 0.002 0.002

4) ZBEEZF (1 HEHEDOERIISWIE) (BB E# . 0. 04ppm~0. 06ppmLL )

- AEE A& 1B FHEDER98%IE (ppm)

htel [ g1 74| ris s | Eruiof i | Ervoos i | Emot i | ER2o | FR2s4E | ER244F B | ERi254 | ERR264E FE

& R = ElE 0.018 0.020 0.016 0.016 0.014 0.015 0.014 0014 0.013 0.010
& R W@ m wWE 0.028 0.032 0.028 0.023 0.022 0.027 0.022 0.020 0.021 0.021
& R W 2 BlE 0.022 0.025 0.019 0.019 0.014 0.016 0.016 0.015 0013 0014
& R |h Rl 0.023 0.022 0.020 0.019 0.018 0.019 0.017 0.016 0.016 0.016
& R |ER Fic) (3 0.029 0.027 0.025 0.023 0.022 0.024 0.020 0.020 0.017 0018
& R h|fE EB|1E 0.029 0.029 0.026 0.024 0.022 0.024 0.023 0.023 0.020 0.022
& R Wi 3| 0.023 0.020 0.016 0.016 0.016 0.015 0.009 0.008 0013 0013
+ B |t Bl 0.016 0.015 0.014 0.015 0.014 0.013 0.012 0.012 0.012 0.011
+ B X 2] ES 0.010
+ B f|B B E® 0.009
+ B wilee & Blx 0.005 0.005 0.005 0.005 0.004 0.005 0.004
+ B &\ 5|1 0.014 0.010 0.010 0.011 0.009 0.010 0.009 0.009 0.008 0.008
+ B | MES 0.005
+ B | | (% 0.012
N R | N 0.028 0.020 0.020 0.017 0.017 0.019 0.019 0.014 0.012 0.015
moE HK B OFE 0.024 0.025 0.022 0.020 0.020 0.020 0.018 0.017 0.015 0.016
PO PP ¥e|7a 0.010 0.011 0.010 0.009 0.008 0.008 0.008 0.007 0.008 0.009
B W | Bl*x 0.017 0.012 0.011 0.012 0.010
B T £ 0.027 0.024 0.023 0.021 0.019 0.021 0.019 0.018 0.015 0.022
B W T JIIES 0.023 0.024 0.021 0.017 0.017 0.027
B = W[ | 0.021 0.021 0.021 0.019 0.018 0.019 0.017 0.015 0.015 0.016
2 0% ET|iE & |1 0.022 0.022 0.020 0.016 0.015 0.014 0.012 0.012 0.012 0014
Mo AT #|1x 0.024 0.025 0.021 0.021 0.020 0.021 0.018 0.018 0.017 0.019
FEEEHET(S B|x 0.013
e BT B B|® 0.007 0.007 0.006 0.005 0.005 0.005 0.005




() —BILEFE (FTHIE)

THET BER A& £ F 5 {E (ppm)
ik | Eai1 74 | ERUs R | TR0 B | ER20s B | ERi1 R | ERioE | R | R4 E | TR E | Tri2eE R

% R W|= Bl 0.002 0.003 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000
& R W@ m W|E 0.006 0.007 0.007 0.005 0.005 0.004 0.003 0.003 0.003 0.003
£ R | I B|E 0.003 0.003 0.002 0.002 0.001 0.001 0.002 0.003 0.002 0.001
% iR W% EA[E 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
% R |8 ic] (=3 0.004 0.004 0.003 0.003 0.002 0.002 0.002 0.002 0.001 0.001
% R @ =3[ 0.004 0.004 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.002
£ R |t =3[ 0.003 0.002 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.002
+ B |t = [ 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.001
+ B X 2] ES 0.001
t E WA 8 E[X 0.001
+t B wlee & B|® 0.000 0.000 0.000 0.000 0.000 0.000 0.000
+ B |\ -1 1E 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
+ B | MES 0.000
+ B | H|% 0.002
N R T[N wm|#ET 0.005 0.003 0.002 0.002 0.002 0.001 0.002 0.001 0.001 0.001
mE WK B oFE 0.007 0.009 0.007 0.006 0.005 0.005 0.004 0.003 0.003 0.003
B ¥ R Ve (75 0.002 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.001
B W | B|* 0.002 0.001 0.001 0.002 0.001
B W (s e [E 0.003 0.003 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002
B W | IIES 0.004 0.004 0.002 0.002 0.002 0.001
B % R ElE 0.002 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002
b= 0 f b= &1 0.003 0.002 0.002 0.001 0.001 0.001 0.001 0.002 0.001 0.001
M # BTN #|E 0.003 0.002 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.001
FEEEHET(S = ES 0.001
e S ET| R B|* 0.000 0.000 0.000 0.000 0.000 0.000 0.000

(6) ZFEBILY (FFEHE)

s | mem |TE & F ¥ {8 (pom)

htel [ g1 74| Truis s | Truiof i | Ervoos i | Emot R | ERo | FR2s4E | ER244E B | ERi254 | ERR264E B

% R W|= ElE 0.010 0.011 0.009 0.009 0.008 0.007 0.007 0.007 0.006 0.006
& R W@ @ #WE 0.020 0.024 0.021 0.017 0.015 0.014 0.013 0.013 0.013 0.012
£ R W oz BE 0.013 0.013 0.011 0.009 0.008 0.008 0.008 0.009 0.008 0.008
& R |+ By [E 0.014 0.013 0.012 0.011 0.010 0.010 0.009 0.008 0.008 0.008
& R T[ER i [ 0.019 0.019 0.016 0.015 0.013 0.013 0.012 0.011 0.010 0.010
& R w|@ 3|1E 0.016 0.016 0.014 0.013 0.011 0.011 0.010 0.010 0.010 0.010
£ R |t i [ 0.013 0.012 0.010 0.009 0.009 0.008 0.006 0.005 0.007 0.008
+ B |t Bl 0.010 0.011 0.010 0.010 0.009 0.007 0.007 0.006 0.006 0.006
+ B X 2] ES 0.004
+ B W|E #& E[Xx 0.005
+ B wlee & B|X 0.002 0.002 0.002 0.002 0.002 0.002 0.002
+ B W|&E -1 (£ 0.007 0.006 0.005 0.006 0.004 0.005 0.004 0.004 0.004 0.004
+ B | MES 0.002
+ B | 2] ES 0.006
VA 7 I B 0.017 0.013 0.011 0.010 0.009 0.009 0.009 0.007 0.006 0.007
mE WK B oFE 0.020 0.023 0.019 0.017 0.016 0.015 0.013 0.012 0.011 0.010
¥ R iq[z] 0.006 0.006 0.005 0.005 0.004 0.004 0.004 0.004 0.004 0.005
B W W B|% 0.010 0.006 0.006 0.007 0.005
B W £ 0.016 0.017 0.015 0.013 0.012 0.012 0.011 0.010 0.008 0.009
B W (e IES 0.016 0.016 0.012 0.011 0.009 0.010
B £ mW|8R i [£3 0.012 0.013 0.011 0.010 0.010 0.009 0.010 0.008 0.008 0.009
b= = f P 4 [ 0.013 0.013 0.011 0.009 0.008 0.008 0.007 0.007 0.007 0.006
N ET|R #(E 0.013 0.013 0.010 0.011 0.009 0.009 0.009 0.008 0.008 0.008
FEEEHET(S B|x 0.006
e SET| R B|* 0.004 0.003 0.003 0.003 0.002 0.003 0.003




(1) —BibRE (FFHIE)

AT S A& £ F ¥ {E (ppm)
i | Eai1 74 | ERUs R | TR0 R | ER20 B | ERi 1 R | ERioE | R | R4 E | TRiosE | Tri2eE R
£ R w|= Bl 0.3 0.3 0.3 0.3 0.2 0.2 0.2 0.2 0.2 0.1
8) —EkixFE (1 HEHEDER 2 %ERIME) (GEEBE% . 10ppmLLTF)
- AR A 1B FHEDER2%ERME (ppm)
ik | a7 | ERUs R | TR0 B | ER20s B | ERi1 R | ERioE | R | TRiaE | TRiosE | Tri2eE R
£ R w|= Bl 0.5 0.5 0.4 0.4 0.4 0.4 0.4 0.4 0.5 0.3
9) HEZEAXLETU L (BEO 1 BEEEDEFHE)
- axg | BREID1BEEDETHME (ppm)
htel | g1 74| Truis s | Truiot i | Eatoot i | Ero1 i | Eos | FR2s4E B | ERi244F B | ERR254F B | EAR264E B
% R wW|= ElE 0.036 0.037 0.039 0.036 0.037 0.037 0.032 0.033 0.032 0.031
£ R W@ @ #|E 0.027 0.034 0.035 0.034 0.036 0.037 0.034 0.036 0.035 0.039
£ R | I BE 0.025 0.032 0.034 0.033 0.035 0.036 0.036 0.041 0.041 0.039
& R W% H|E 0.030 0.035 0.036 0.037 0.038 0.039 0.036 0.038 0.038 0.038
& R Ti[ER Fic] [ 0.028 0.031 0.035 0.034 0.036 0.036 0.034 0.038 0.039 0.041
& R | E] [ 0.033 0.037 0.039 0.040 0.040 0.036 0.038 0.043 0.043 0.042
£ R |t 3| 0.034 0.036 0.037 0.037 0.040 0.039 0.037 0.038 0.032 0.041
+ B |t =113 0.032 0.034 0.036 0.037 0.038 0.037 0.036 0.039 0.041 0.038
+ B X H|% 0.042 0.039 0.039 0.037 0.042 0.041
+ B | # & 0.035 0.037 0.033 0.039 0.037 0.035
+ B wlee & B|X 0.039 0.035 0.039 0.035 0.038 0.040 0.035
N R T[N wm|#ET 0.033 0.035 0.037 0.037 0.038 0.036 0.032 0.034 0.029 0.038
mE WK B oFE 0.031 0.030 0.032 0.029 0.033 0.032 0.030 0.031 0.031 0.030
B ¥ R e[/ 0.037 0.035 0.042 0.042 0.044 0.041 0.037 0.040 0.033 0.038
B W | B|% 0.036 0.038 0.035 0.038 0.037 0.037 0.036 0.034 0.031 0.041
B W |1 0.033 0.034 0.038 0.039 0.041 0.038 0.035 0.038 0.037 0.036
B W % IIES 0.032 0.030 0.038 0.038 0.037 0.039
B £ (R ElE 0.033 0.036 0.036 0.039 0.039 0.036 0.034 0.032 0.032 0.040
b= = b ] [ 0.033 0.033 0.035 0.035 0.040 0.035 0.033 0.037 0.037 0.037
M # BTN #[E 0.035 0.031 0.038 0.039 0.042 0.039 0.036 0.039 0.040 0.036
hEEBET| B =ES 0.038 0.035 0.041
e S ET|RE SIS 0.044 0.046 0.045 0.040 0.041 0.041 0.040 0.043 0.041 0.038
(10) HEEAXIA LU (REOBERES 1 BEEDETHE)
HET BEE A& BEO B RS 1HEEOEFHE (ppm)
htel [ g1 74 e | ris s | Eruiof i | Ervoos i | Emo1 i | ER2o | T34 B | ER244F B | FRR254 | ERR264E FE
& R W|= ElE 0.048 0.050 0.051 0.047 0.047 0.047 0.041 0.042 0.041 0.039
& R W@ @ #WE 0.037 0.048 0.048 0.047 0.048 0.049 0.046 0.047 0.044 0.051
£ R W oz BE 0.035 0.042 0.046 0.045 0.045 0.047 0.047 0.052 0.051 0.049
& R (% By [E 0.042 0.049 0.049 0.050 0.051 0.051 0.048 0.050 0.050 0.049
% R &R Fic) (=3 0.039 0.042 0.047 0.046 0.048 0.047 0.045 0.048 0.049 0.051
% R w|@ 3|E 0.045 0.051 0.053 0.053 0.053 0.048 0.050 0.054 0.054 0.053
% R |t 3|E 0.046 0.049 0.050 0.049 0.052 0.050 0.048 0.049 0.041 0.052
+ B |t Bl 0.042 0.045 0.048 0.049 0.049 0.047 0.045 0.050 0.052 0.049
+ B |k 2] ES 0.053 0.050 0.050 0.047 0.053 0.051
+ B W\ & E[Xx 0.045 0.049 0.044 0.052 0.048 0.046
t B wWlee & B|X 0.049 0.044 0.050 0.046 0.047 0.051 0.045
VA 7 I mlET 0.045 0.048 0.050 0.050 0.049 0.048 0.042 0.044 0.037 0.050
mE WK B oFE 0.045 0.044 0.046 0.042 0.046 0.045 0.042 0.043 0.042 0.041
¥ R ¥e|7a 0.047 0.044 0.052 0.053 0.054 0.051 0.045 0.050 0.041 0.047
B W W B|% 0.047 0.050 0.045 0.050 0.048 0.048 0.047 0.044 0.040 0.051
B W e[ 0.045 0.046 0.051 0.053 0.053 0.049 0.046 0.049 0.048 0.046
B W (e IES 0.042 0.041 0.051 0.050 0.048 0.051
B £ mW|8R i [£3 0.044 0.049 0.048 0.052 0.051 0.047 0.045 0.041 0.041 0.052
2 g [ 4 [ 0.046 0.046 0.049 0.048 0.054 0.047 0.044 0.048 0.049 0.049
N ET|R #(E 0.047 0.042 0.051 0.052 0.055 0.052 0.047 0.051 0.051 0.047
hEEBET| B =ES 0.049 0.046 0.053
e S ET| R B|* 0.055 0.057 0.056 0.051 0.051 0.051 0.049 0.053 0.051 0.047




(1) HEe2AFE2 b (RED 1EHEEA0. 120pmEl £ D HH)

wmr | mem |TE BRAD1BRIEA.120omL LD B (H)
gt | e eriser| Erioerk| Eroer | Emo a k| Tros k| TRosE | Tros | TrosEE| TRoeEE

& R = HIE 0 0 0 0 0 0 0 0 0 0
& R W@ m SE 0 0 0 0 0 0 0 0 0 0
& R Wl 2 B|E 0 0 0 0 0 0 0 0 0 0
& R |h H|E 0 0 0 0 0 0 0 0 0 0
& R &R 7| 0 0 0 0 0 0 0 0 0 0
& iR | 3|4 0 0 0 0 0 0 0 0 0 0
& R i |4 0 0 0 0 0 0 0 0 0 0
+ B |t Bl 0 0 0 0 0 0 0 0 0 0
+ B X ] ES 0 0 0 0 0 0
+t B #|B B E 0 0 0 0 0 0
+ B wilee & Blx 0 0 1 0 0 0 0
WA 7 NE 0 0 0 0 0 0 0 0 0 0
mE HK B OF[E 0 0 0 0 0 0 0 0 0 0
o ¥ R Ve |7 0 0 0 0 0 0 0 0 0 0
B W | B|% 0 0 0 0 0 0 0 0 0 0
B Z|1 0 0 0 0 0 0 0 0 0 0
ST ES JIIES 0 0 0 0 0 0
B % |4 | 0 0 0 0 0 0 0 0 0 0
2 1% ET|iE |1 0 0 0 0 0 0 0 0 0 0
Mo BT #[x 0 0 0 0 0 0 0 0 0 0
FEEEHET(S = ES 0 0 1
e B HT| BE SIES 0 0 1 0 0 0 0 0 0 0

(12) HEFEAXTF b CHBIEDBESEDERII/N—E 2 1 JLIE)

AT S A& SHFMEIED B = ED EMI9/ I—E2 2 ILIE (ppm)

htel [ g1 74 e | ris s | Truiof i | Eroos i | Erot R | Er2o4 | FR2s4E B | ER244F B | ERR254F | ERR264E FE

& R = ElE 0.088 0.078 0.082 0.079 0.088 0.084 0.077 0.076 0.074 0.076
& R W@ m wWE 0.061 0.077 0.084 0.077 0.081 0.075 0.083 0.076 0.074 0.087
& R W 2 BlE 0.062 0.064 0.078 0.076 0.087 0.075 0.079 0.081 0.081 0.080
& R |$ Rl 0.068 0.076 0.080 0.082 0.086 0.078 0.082 0.081 0.077 0.085
& R |ER Fic) (3 0.062 0.066 0.080 0.075 0.081 0.075 0.076 0.075 0.078 0.082
& R h|fE EB|1E 0.077 0.079 0.086 0.089 0.087 0.074 0.085 0.080 0.082 0.087
& R Wi 3| 0.078 0.077 0.082 0.075 0.088 0.072 0.082 0.080 0.066 0.084
+ B |t Bl 0.078 0.072 0.078 0.087 0.086 0.079 0.076 0.075 0.083 0.081
+ B X =] ES 0.089 0.074 0.086 0.083 0.095 0.080
+ B f|B B E® 0.078 0.080 0.071 0.086 0.088 0.081
+ B Wilee & Blx 0.083 0.072 0.089 0.078 0.089 0.080 0.076
WA 7 N 0.084 0.076 0.082 0.083 0.084 0.082 0.078 0.076 0.072 0.085
mE HK B OFE 0.080 0.070 0.075 0.072 0.083 0.074 0.071 0.073 0.077 0.077
M ¥ R |78 0.074 0.066 0.081 0.087 0.094 0.080 0.074 0.074 0.078 0.078
SINTT T Bl*x 0.081 0.076 0.078 0.080 0.088 0.086 0.084 0.077 0.073 0.089
B e |1 0.071 0.067 0.087 0.080 0.088 0.078 0.077 0.076 0.074 0.081
B W T JIIES 0.068 0.065 0.087 0.077 0.085 0.077
B = W[E | 0.075 0.075 0.076 0.081 0.086 0.078 0.076 0.075 0.071 0.083
2 0% ET|iE & |1 0.078 0.074 0.083 0.078 0.091 0.081 0.078 0.081 0.078 0.083
Mo AT [ 0.071 0.069 0.077 0.087 0.092 0.082 0.079 0.077 0.077 0.085
R Z AT B B|* 0.080 0.081 0.081
e BT B Bl*x 0.089 0.088 0.096 0.087 0.091 0.078 0.084 0.080 0.078 0.079




(13

REEAXIF b CHEEOHRSEDERMIN—t 2 A ILEDIFEFY)

AT BER A& SEFRIIED H RS BN ERI99/\—t 2 ILIE (ppm)
’ Mgk (Epg15~ [ER16~ [ERI17~ [ERi18~ [FRi19~ |FER20~ [FEm21~ [FEm22~ [FEm23~ [Em24~
17| 18| 19FE| 20| 21FE|  22FE|  23FE| 45| 255FE|  265E
% R W|= ElE 0.091 0.088 0.083 0.080 0.083 0.084 0.083 0.079 0.076 0.075
& R W@ m ME 0.065 0.068 0.074 0.079 0.081 0.078 0.080 0.078 0.078 0.079
& R W 2 B|E 0.066 0.065 0.068 0.073 0.080 0.079 0.080 0.078 0.080 0.081
& R |h Rl 0.079 0.076 0.075 0.079 0.083 0.082 0.082 0.080 0.080 0.081
& R &R Fic) (=3 0.064 0.066 0.069 0.074 0.079 0.077 0.077 0.075 0.076 0.078
& iR | |1 0.082 0.081 0.081 0.085 0.087 0.083 0.082 0.080 0.082 0.083
& R |4 |1 0.082 0.081 0.079 0.078 0.082 0.078 0.081 0.078 0.076 0.077
+ B |t =113 0.078 0.077 0.076 0.079 0.084 0.084 0.080 0.077 0.078 0.080
+ B X 2] ES 0.091 0.085 0.083 0.081 0.088 0.086
+t B d|B B E 0.081 0.081 0.076 0.079 0.082 0.085
+ B wilee & Blx 0.088 0.082 0.081 0.080 0.085 0.082 0.082
WA 7 N 0.086 0.084 0.081 0.080 0.083 0.083 0.081 0.079 0.075 0.078
mE HK B OFE 0.080 0.078 0.075 0.072 0.077 0.076 0.076 0.073 0.074 0.076
M ¥ R e |72 0.073 0.071 0.074 0.078 0.087 0.087 0.083 0.076 0.075 0.077
B W | Bl% 0.074 0.078 0.078 0.078 0.082 0.085 0.086 0.082 0.078 0.080
B |1 0.074 0.072 0.075 0.078 0.085 0.082 0.081 0.077 0.076 0.077
ST ES JIIES 0.068 0.066 0.073 0.076 0.083 0.080
B % R i [ 0.077 0.077 0.075 0.077 0.081 0.082 0.080 0.076 0.074 0.076
2 1% ET[iE |1 0.076 0.076 0.078 0.078 0.084 0.083 0.083 0.080 0.079 0.081
Mo BT #[x 0.074 0.072 0.072 0.078 0.085 0.087 0.084 0.079 0.078 0.080
hEEBET| B =ES 0.082 0.078 0.081
e B HT | BE SIES 0.092 0.091 0.091 0.090 0.091 0.085 0.084 0.081 0.081 0.079
(14) FHEPMFRYE (EFHE)
wmr | mem |TE £ F 1 & (meg/m)
igh | w174 | TR s R | TR0 R | TR0 | ERi R | ERioE | ERisE | TRiaE | TRiosE | TRi26ERE
% R W|= ElE 0.021 0.021 0.019 0.020 0.016 0.016 0.015 0.016 0.016 0.015
& R W@ m wWE 0.022 0.020 0.017 0.019 0.017 0.017 0.017 0.017 0018 0.017
& R W 2 BlE 0.019 0.020 0.018 0.020 0.017 0.016 0.014 0014 0.014 0.014
& R W% RlE 0.022
& R Wi 3| 0.022 0.021 0.019 0.021 0.018 0.018 0.016 0.019 0.019 0.017
+ B |t Bl 0.025 0.019 0.015 0.019 0.016 0.018 0.016 0.017 0.016 0.015
+ B X =] ES 0.019 0.017 0.016 0.016 0.015 0.017 0.019 0.019 0.020 0.019
+ B f|B B E® 0.019 0.017 0.017 0.017 0.015 0.016 0.016 0.016 0.017 0.015
+ B Wilee & Blx 0.019 0.016 0.014 0.016 0.015 0.016 0.015 0.015 0.016 0014
+ B &\ 5|1 0.024 0.021 0.021 0.020 0.019 0.019 0.022 0.020 0.019 0.017
t B m|& TNES 0.022
+ B @& 2] ES 0.020
WA 7 N 0.020 0.019 0.017 0.020 0.016 0.017 0.016 0.015 0.015 0014
mE HK B OF[E 0.020 0.018 0.016 0.019 0.016 0.016 0.016 0018 0.018 0.016
PO PP vE| 7 0.019 0.020 0.017 0.020 0.016 0.018 0.017 0.016 0.017 0.015
B W | Bl*x 0.017 0.018 0.018 0.019 0.016 0.017 0.015 0.016 0.017 0.016
B T £ 0.020 0.018 0.015 0.018 0.016 0.016 0.016 0.016 0.017 0.016
B W T JIIES 0.023 0.018 0.016 0.019 0.017 0.018 0.017 0.017 0.019 0.018
B = W[ | 0.019 0.019 0.017 0.019 0.017 0.017 0.016 0.016 0.016 0.015
2 0% ET|iE & |1 0.018 0.019 0.019 0.019 0.017 0.018 0.018 0.017 0.018 0.017
Mo AT #|1x 0.020 0.018 0.018 0.018 0.018 0.019 0.018 0.017 0.018 0.017
hEEBET| S B|% 0.020 0.020 0.020
e BT B Bl*x 0.020 0.017 0.016 0.018 0.016 0.016 0.015




(15) F#EHFRYE (1 BEHEDER 2 %RIME)

(GEIEEE - 0. 10mg/m LU F)

FHET e A& 1B EHEOER2%KRIME (mg/m®)
gl | Epg 17| TR s | TR0 | TR0 | Erio i | Eroo s | T3 | TR2aE | a5 | TRoeE
£ R Ww|= ElE 0.056 0.057 0.056 0.051 0.039 0.047 0.036 0.043 0.059 0.040
& R W@ m H|E 0.058 0.054 0.045 0.047 0.043 0.048 0.040 0.043 0.056 0.042
& R W o BHlE 0.048 0.052 0.055 0.045 0.040 0.047 0.036 0.043 0.051 0.040
£ R % R|E 0.056
£ R |4 3|4 0.057 0.055 0.051 0.049 0.042 0.052 0.035 0.048 0.059 0.043
+ B |t Bl 0.067 0.051 0.050 0.046 0.039 0.054 0.037 0.045 0.058 0.045
+ B X ] ES 0.059 0.045 0.050 0.041 0.041 0.046 0.049 0.048 0.063 0.051
+ B h|E B8 E|® 0.054 0.045 0.046 0.043 0.037 0.052 0.040 0.043 0.063 0.043
+ E wilge & Blx 0.057 0.047 0.053 0.042 0.039 0.051 0.040 0.042 0.063 0.047
+ B W& 5| 0.079 0.056 0.067 0.054 0.048 0.061 0.079 0.060 0.065 0.053
+ B | INES 0.062
+ B | ] ES 0.056
R | N 0.051 0.056 0.048 0.053 0.041 0.050 0.041 0.042 0.056 0.038
moE WK B OFE 0.053 0.051 0.044 0.047 0.039 0.052 0.037 0.051 0.062 0.043
BoI o PP ¥e|7g 0.050 0.053 0.054 0.045 0.040 0.054 0.041 0.045 0.060 0.043
B W | Bl% 0.049 0.047 0.047 0.044 0.037 0.047 0.036 0.043 0.054 0.041
ST EN F|1& 0.049 0.053 0.044 0.046 0.039 0.047 0.037 0.044 0.057 0.042
B W T|E MES 0.062 0.048 0.044 0.047 0.038 0.055 0.043 0.046 0.062 0.044
B % |4 i 0.053 0.057 0.051 0.053 0.038 0.049 0.037 0.044 0.055 0.040
b=l 8|1 0.042 0.052 0.052 0.046 0.040 0.048 0.040 0.047 0.057 0.043
W o AT [ 0.046 0.045 0.051 0.045 0.041 0.057 0.041 0.045 0.061 0.045
hae EET[ B B|*% 0.057 0.052 0.057
& B BT |FE Bl*x 0.063 0.050 0.052 0.045 0.041 0.052 0.036
(16) #MU/NRIFIRYE (EFHIE) (GBEE%E  15ug/mMUT)
wmr | mxs |PE E FE ¥ fE (ug/md)
htel | g1 74 e | Tris s | Eruiof i | Eroos i | Eot R | ER2o | T34 B | ER244F B | ERR254F B | ERR264E FE
& R W@ m wW|E 13.1 12.4
& R mW|&E EB[1E 115
& R Wi EB|1E 1.3
+ B |t Bl 13.2 13.5 15.1 134
WA 7 N 125 13.6 114
B ™| B|x 112 10.8
BN W% Pl BS 9.9
m B mK B OFHE 12.7 12.2
M ¥ R vE| 78 13.1 13.0
ST EN £ 1.3 11.9 11.6 134 1.3
2 OE ETE & [1E 10.0
N # BTN M 10.5
(17) BubRFIRYE (1 BEHBEDERIIS%IE) (BiEE# . 35 ug/mLUTF)
wmr | mem |TE 1B EHIENERI8% (ug/m’)
i | Eai1 74 | ERs R | ER1 0 | ER0E | R £ | R | TR | TRiaE | TriosEE| Trizes
& R W@ m HE 35.7 30.4
& R mW|&E ER[1E 29.6
& R |4 |4 31.3
+ B Wt Bl 315 31.6 38.4 39.0
WA 71 N 35.3 38.7 33.0
% B | Bl*x 34.3 31.8
B O % PRl ES 26.3
moE WK B OFE 37.6 31.2
BoI o PR vE| 7 38.4 34.2
B F|1 372 305 33.1 38.8 30.0
2 1% RT|i2 &1 25.3
W BT #|1E 26.9
(18) FEA R viribKkFE (FEFHIE)
wm | mxs |PE £ F # fE (ppmC)
gk | E g7 | ER s | FR 9 | FRt20 | R0t EE | ERo | ER20 | R4 | FRi25E E | FRi26EE
& R = ElE 0.12 0.12 0.11 0.12 0.10 0.08 0.09 0.09 0.07 0.07
+ B X =] ES 0.04 0.06 0.05 0.05 0.07 0.08 0.08 0.07 0.08 0.09
W AT #(x 0.07 0.10 0.10 0.09 0.07 0.07 0.05 0.05 0.05 0.05




(19) FEAZ UiribKkFE (6~IBFICHITS2FEFHE)
THET BER A& 6~9BFIZHITHEFHIE (ppmC)
g (174 | ERcis e | BR[| ERoo e | o e | o2 e | s g | et rE | o5 e | 26 RE
& R M= BlE 0.13 0.13 0.12 0.13 0.1 0.09 0.09 0.09 0.08 0.07
£ E WX E1ES 0.05 0.07 0.06 0.06 0.07 0.08 0.08 0.07 0.08 0.09
N # BTN T 0.10 0.12 0.12 0.11 0.08 0.08 0.06 0.06 0.06 0.07
(20) A2 (F¥EHE)
THET BER A& £ F 5 {E (ppmC)
g (174 | ERcis e | ERci ot e | ERoo e | o e | o2 e | s e | E et e | o5 e | 26 RE
& R M= BlE 1.90 1.90 1.91 1.95 1.94 1.94 1.99 1.98 1.95 1.97
t B wW|X E1ES 1.82 1.82 1.82 1.84 1.85 1.86 1.85 1.87 1.90 1.89
N # BTN E 1.87 1.88 1.88 1.89 1.90 1.90 1.91 1.92 1.92 1.93
Q1) #REKE (FEFHIE)
THET BER A& £ F 5 {E (ppmC)
htel [ g1 74| Truis s | Truiot i | Ertoos i | Ero1 i | Eoo4 | FR2a4E B | ER244F B | ERR254F B | FRR264E B
& R M= E|E 2.01 2.03 2.02 2.06 2.04 2.02 2.08 2.07 2.03 2.04
£ B WX E1ES 1.87 1.88 1.88 1.89 1.92 1.94 1.92 1.94 1.97 1.98
N # BTN E 1.95 1.98 1.98 1.98 1.97 1.97 1.95 1.96 1.96 1.99




4 BBHEHHARIEROEMAEHEROEFEL
(1) —EBeZEFE (FEHIE)

AT BEE A& £ F ¥ {E (ppm)
ik | Eai1 74 | ERUs R | ERUI o B | ER20 B | ERi 1 R | ERioE | R | R4 E | TRiosE | Tri2eE R
£ R w|BR B |& 0.037 0.033 0.034 0.031 0.027 0.028 0.026 0.026 0.026 0.025
£ R W|(B)H B |& 0.039 0.037 0.033 0.032 0.032 0.030 0.027 0.026 0.023 0.028
£ R #|[(®)E T [#T 0.025 0.026 0.023 0.022 0.020 0.020 0.019 0.019 0.018
£ R W|(B)ER &1 & 0.025 0.022 0.022
% iR Wm|(B # [ 0.006
Famm|(B)Ham |E 0.030 0.034 0.033 0.033 0.030 0.028 0.022 0.022 0.020 0.019
(2) —BiE=EFR (1 BEMYEDFERIS%IE) (GRIFEEZE : 0. 04ppm~0. 06ppmLL )
I R 1B FHBOERS%IE (o)
’ htel [ pg1 74| Truis s | Trviot i | Ertoot i | Ero1 i | ERoo4 | FR2s4E B | ER244F B | ERR254F B | ERR264E B
£ R w|BR B |& 0.052 0.051 0.048 0.048 0.041 0.040 0.041 0.039 0.037 0.035
£ R W|(B)H B & 0.054 0.052 0.048 0.048 0.047 0.043 0.041 0.041 0.035 0.049
£ R W[(®)E T [#£T 0.041 0.041 0.038 0.039 0.036 0.037 0.033 0.034 0.031
& R W[(BER & [ 0.038 0.035 0.033
& R Ml # & 0.011
Hamm|(B)Ham |E 0.048 0.054 0.054 0.056 0.054 0.050 0.042 0.038 0.033 0.035
%) —MILEFR (FFEHHE)
HET S A& £ F B {E (ppm)
htel [ g1 74| Truis s | Truiot i | Ertoot i | Erko1 i | ERo4 | T34 B | ERi244F B | FRR254F B | FAR264E B
£ R w|BR B |& 0.057 0.050 0.047 0.040 0.028 0.026 0.023 0.021 0.022 0.019
£ R W) B & 0.072 0.063 0.050 0.044 0.041 0.033 0.029 0.022 0.020 0.027
£ R W[(B)E T [T 0.016 0.016 0.013 0.013 0.011 0.011 0.010 0.010 0.008
& R W[(BER & | 0.021 0.019 0.018
& R Ml # | 0.003
Bamm|(E)Fad [ 0.042 0.035 0.030 0.029 0.024 0.029 0.029 0.026 0.023 0.021
4) ZFBILY (FFEHE)
s | mem |PE £ F B B (opm)
’ htel [ g1 74| Eris s | Truiot i | Erioos i | Emot i | ER2o | T34 | ER244F B | FRi254 | ERR264E FE
& R W(ER & & 0.093 0.083 0.081 0.070 0.055 0.054 0.049 0.048 0.048 0.043
£ R (B B |& 0.111 0.100 0.083 0.076 0.072 0.063 0.056 0.048 0.044 0.054
£ R W[(B)E T [T 0.041 0.041 0.036 0.035 0.031 0.032 0.029 0.029 0.026
& R W[(EER & | 0.046 0.041 0.040
& R Ml # | 0.009
Bamm|(E)Fad [ 0.073 0.069 0.063 0.062 0.053 0.057 0.051 0.048 0.042 0.040
(5) —EibRFE (FFEHE)
T e B £ F ¥ {E (ppm)
s | Eapr | Eaviea | TR k| o | TR £ | Erog | Tross | TR | TrosEE| Troes
% R W(BER & & 0.9 08 08 0.7 0.6 0.6 0.6 0.6 0.5 0.5
& R W(EH B |& 12 1.1 1.0 09 0.9 09 1.0 1.0 0.8 0.8
% R W|(B#E T |#£T 05 05 0.4 0.4 0.4 0.4 0.4 0.4 03
% R W[(BER & | 06 05 05
& R W)W # |F 0.2
IR [EMN | 04 04 04 03 03 03
Bamm|(E)Fad & 0.6 0.6 05 05 0.4 05 0.4 0.4 0.4 0.4

(6) —EibmE (

1 HEHEDER 2 %ERIME)

(IBIEE X . 10ppmLLTF)

— AER =553 1B FEED ER2%R5ME (ppm)

el [ prp 7| Truee | T | Eaom | Eae a k| oo k| Taoss | Taoeg | Taosw| Taoes
£ R W(BER & & 1.4 1.2 1.1 1.0 1.1 1.0 1.0 0.9 0.8 0.7
& R W(EH B |& 1.9 1.7 1.4 1.2 1.4 16 1.9 18 16 1.7
& R W|(E#E T |#£T 0.8 0.8 0.7 06 06 0.7 0.6 0.6 05
£ R W[(BER & |& 1.0 08 0.8
£ R W[Ew # |E 0.4
IR (BN | 0.7 0.7 0.6 05 05 06
Bamm|(E)Fad & 0.9 0.9 0.8 0.7 0.7 0.7 0.7 0.6 0.6 0.6




(D) FERFRYE (EF9E)
- — £ F ¥ {E (mg/m)
Wi | g | Eaisere | Eaoee | Faoow | Eaoer | Eaoow | Erose | s | Erosar| Eroea

& R d|ER B & 0.026 0.024 0.024 0.021 0.016 0.016 0.015 0.016 0.016 0.015
& R | )H‘ fﬂT ] 0.030 0.031 0.027 0.027 0.025 0.028 0.029 0.031 0.025 0.029
& R W|(B)% #T 0.024 0.022 0.018 0.020 0.017 0.017 0.018 0.018 0.018
& R W@ ER B |7 0.020 0.020 0.019
£ R d|(Ew B |E 0.013
Bamm|(@Bad & 0.026 0.026 0.023 0.024 0.019 0.019 0.020 0.020 0.020 0.018

8) FWHFIKYME (1BTFHEDER 2 %FRIME) (EiEE# - 0. 10mg/m° LA )

1B EHIEDER2%EME (mg/m®)

war | omes | B2
Molel [ R 7 | RLIGHIE | FRLIORIE | FRL2OGTE | FRL21 G | FRL22%5 | FH20F | FH24FE | FH20FE | FR26EE
2 R W|BR & |& 0062 | 0056| 0058| 0050| 0037| 0046| 0035| 0038| 0048| 0036
% R w|EE B (& 0059 | 0065| o0058| o0058| o0058| o0066| o0078| o009 | o0081| 0072
2 R Wl T [#x| oose| o0058| 0051| o0045| o0042| 0047| o0039| o0045| 0058
2 R w|E&R o = 0052 | 0048 | 0049
2 R wlEw 8 |& 0.038
% 4 (25 A & 0059 | 0062| 0059| o0052| o0044| o0050| 0043| 0047 o0060| 0042
9) #MhHFRYE (FEFHHE) GEERE 15ug/mUT)
o | mem |FE E ¥ 5 B g
35k [T 172 | 1O | 1O | T RL20GE | T2 | TRi22 G| T R20 G| T H2AGE | TR25 | FR26EE
& R ml(B)W ¥ |H& 10.2
Famm|(B)H L H|E 14.6 12.8

(10) #/hiiFRYME (1 BFI9ED FRHI8%IE)

€5

EHEAE

- 354 g/m L)

1B EHEDERIB%IE (1 g/m3)

wr | mzm |2
Wl | 7 | a4 | 0% B | FRL20ME B | TR | TR | TR | FRI2AEE | FRISEE | FRI26EE
£ R m(EwW #® |& 288
B e mm|(E)F 2 m[E 38.2 34.1
(1) EAR VRibKE (EFHE)
- axp | BE £ F 5 {E (ppmC)
W | 17 | RS | FAl104 | T2 | TR | BRI | FAl2oa i | Tl | FRiosEE | FR26EE
£ R H|ER & [& 042 0.31 0.30 0.25 0.16 0.18 0.14 0.13 0.14 0.13
(12) FEA% vimibkEFE (6~IFICHITHEFYIE)
- axp | BE £ F 5 {E (ppmC)
Wl | g7 | PRI | FRER | TR0 | T2 R | T2 i | Fri2atrE | Frkoat i [ oot | Tai2em
2 R H|ER & [ 0.37 0.27 0.26 0.21 0.14 0.17 0.13 0.12 0.12 0.12
(13) A2> (FEHYE)
- — £ T 5 {E (ppmC)
Wl | g7 | PRI | FRER | TR0 | T2 R | T2 | Fri2atrE | T4 [ oot | Fai2emE
2 R H|ER & [& 1.92 1.88 1.89 1.89 1.89 1.89 1.88 1.89 1.92 1.93
(14) ZibkE (FFHE)
- i £ T 5 {E (ppmC)
Wl | g7 | PRI | FRER | TR0 | T2 R | FAi22frE | FrioatrE | Takoa4 i [ oot | Tai2em
2 R H|ER & [ 2.34 2.19 2.19 2.14 2.06 2.07 2.02 2.02 2.06 2.06

— 48






